
0.0 0.0 0.0 0.0 0.0 0.1 0.1 0.1
0
0
0
0
0
0
0

H10

H20

H10,H20 at r=ri+1, (magn)
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0

0

0

0

0 Re[l=1]

Im[l=1]

l=2

pol(m=1) magn.
0.0 0.0 0.0 0.0 0.0 0.1 0.1 0.1

-3.0
-2.0
-1.0
0.0
1.0
2.0
3.0

pol(l=2)

tor(l=3)

m=2 kin.
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20
25
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40

tor(l=1,m=0) kin.
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0
0
0
0
0
0
0

pol(m=0) magn.
0.0 0.0 0.0 0.0 0.0 0.1 0.1 0.1

0.0
0.0
0.0
0.0
0.0
0.0
0.0

l=2

l=3

pol(m=2) magn.
0.0 0.0 0.0 0.0 0.0 0.1 0.1 0.1

-1
0
0
0
0
0
1
1

l=1

l=2

tor(m=0) magn.
0.0 0.0 0.0 0.0 0.0 0.1 0.1 0.1

-5

0

5 Re

Im

pol(l=1,m=1) kin.
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